264 Numericka rjeSenja zadataka

633 F,=6kN, F,=2kN, M, =-2,5kN-m, M, =-0,5kN-m, M, =0,
(M.), ==2kN-m, ( C)D:O,MD:MEzo.
634 F =F,=6kN, M, =M,=-25kN-m, M. =M, =-2kN-m,M, =M, =0.
6.35 F,=5kN, F,=1kN, (M, ) =-2kN-m, (M, ) =(M,) =0,
(M, ) =2kN-m, x_=2,5m (desnood C), M,(x,)=2,25kN-m .
6.36 F, =3,833kN, F, =3,667kN, (M, ) =-1,4kN-m, (M,) =1,6 kN-m,
( ) =-3,1kN-m, x, =15 m (desnood C), M,(x,)=1,88 kN-m.

6.3 SLOZENI ILI GERBEROVI NOSACI
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E E, MAz—lFa, McLlea,Mgz—EFa,
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My =-Fa.
5 21, 1,
638 F, =qa, FC=Eqa, M. =—§qa , M, =MD=—M=—Eqa , My =0.

6.39  F, =1,75qa, Qg =0,25qa, F. =2,25qa, M, =-1,5qa*, M. =—qa’,
(Mp), =—0,75qa" , (My,), =0,25qa’,

X, =1,75a, My(x,) = lzqa =0,03125¢ga’.

2 1
640 F, =?9qa, F, :%qa, M, =-10gd*, Q, = qa M, =0, MD:?Oqaz,
1 121 , 1,
x =—a, M (x )=—¢qa”, M. =—qa
n g o (X)) - 1 p=54

641 F, =5kN,F.=—6kN,M,=—6kN'm, M, =#/=6 kN-m, M, =2 kN-m,
M, =—18kN'm, O, =3kN, x,=0,5m, M, (x,)=2,25 kN-m.
3 1 ) 5,
642 F,=—qa, F,=0y=——qga, M. =qa”, M, =——qa’",
2 2 2
1
M, =—qa2,MB =M, =0, x, =% ,Mb(xm)=§qaz,MH =/W=qaz.

6.43 FAzgqa,Fczgqa,Mcz—%qa My=M_, =M= Eqa M, =M, =0,



